QID : 301 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select 'No Error'.

I use to bunk classes to sneak in the (1)/ library and most of my class notebooks (2)/ were filled with poems and essays. (3)/ No Error (4)

Options:

1) 1

2) 2

3) 3

4) 4

Correct Answer: 1

QID : 302 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select 'No Error'.

At the one hand, (1)/ she was elated that she'd finally (2)/ discovered her passion. (3)/ No Error (4)

Options:

1) 1

2) 2

3) 3

4) 4

Correct Answer: 1

QID : 303 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select 'No Error'.

Which very much is (1)/ trying to fit round pegs (2)/ in square holes. (3)/ No Error (4)

Options:

1) 1

2) 2

3) 3

4) 4

Correct Answer: 1

QID : 304 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select 'No Error'.

Although it is far less common in the (1)/ atmosphere than carbon dioxide, (2)/ it has 20 times the ability heat-trapping. (3)/ No Error (4)

Options:

1) 1

2) 2

3) 3

4) 4

Correct Answer: 3

QID : 305 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select 'No Error'.

It is estimated that cows might be more (1)/ dangerous to a earth’s atmosphere than trucks (2)/ and cars combined. (3)/ No Error (4)

Options:

1) 1

2) 2

3) 3

4) 4

Correct Answer: 2
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QID : 306 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select 'No Error'.

Last week I made a list of 10 classics (1)/ those make for great reads and a (2)/ few of my son's favorites. (3)/ No Error(4)

Options:

1) 1

2) 2

3) 3

4) 4

Correct Answer: 2

QID : 307 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select 'No Error'.

Be prepared for the fact that the interview (1)/ panel may not agree with a opinions that (2)/ you present to them. (3)/ No Error (4)

Options:

1) 1

2) 2

3) 3

4) 4

Correct Answer: 2

QID : 308 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select 'No Error'.

Price theorizes that if he is at one extreme (1)/ end of an spectrum, then perhaps (2)/ there is somebody at the other end. (3)/ No Error (4)

Options:

1) 1

2) 2

3) 3

4) 4

Correct Answer: 2

QID : 309 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select 'No Error'.

Imagine the kind of influence it (1)/ will steadily and perpetually infuse (2)/ on the viewer’s mindset.(3)/ No Error (4)

Options:

1) 1

2) 2

3) 3

4) 4

Correct Answer: 3

QID : 310 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select 'No Error'.

We will not want our kids (1)/ to be influenced by (2)/ such TV serials. (3)/ No Error (4)

Options:

1) 1

2) 2

3) 3

4) 4

Correct Answer: 4

QID : 311 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is needed, select "no improvement".

Of course some of the most important (uses for water) are at our homes.

Options:

1) uses of water

2) uses with water

3) use of water

4) No improvement

Correct Answer: uses of water

QID : 312 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is needed, select "no improvement".

You are enjoying the thrill (of the mid-week holiday) but I'm here to change that.

Options:

1) of the mid-week holidays

2) of the holidays

3) of a mid-week holiday

4) No improvement

Correct Answer: of a mid-week holiday

QID : 313 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is needed, select "no improvement".

I wanted to make some investments with the money before (it runs out).

Options:

1) it run out

2) it runs in

3) it runs away

4) No improvement

Correct Answer: No improvement

QID : 314 - Improve the bracketed part of the sentence.

The newspaper’s edition that day (reported over a) range of events.

Options:

1) are reporting about the

2) reported a

3) reporting the

4) No improvement

Correct Answer: reported a

QID : 315 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is needed, select "no improvement".

They have continued to (put down staff pay), which has resulted in staff receiving real-terms pay cuts in recent years.

Options:

1) put on staff pay

2) bring on staff pay

3) hold down staff pay

4) No improvement

Correct Answer: hold down staff pay

QID : 316 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is needed, select "no improvement".

The Filmfare Awards are presented (annual every year) by The Times Group.

Options:

1) annually

2) annual

3) semi annually

4) No improvement

Correct Answer: annually

QID : 317 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is needed, select "no improvement".

Before giving her parents the shock of (their life), it was important to convince herself for that step.

Options:

1) his and her life

2) their lives

3) its life

4) No improvement

Correct Answer: their lives

QID : 318 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is needed, select "no improvement".

They say even the universe (fells in love) with a stubborn heart.

Options:

1) falling in love

2) feelings in love

3) falls in love

4) No improvement

Correct Answer: falls in love

QID : 319 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is needed, select "no improvement".

If I had lost faith (above) myself, I wouldn't be what I am now.

Options:

1) in

2) for

3) over

4) No improvement

Correct Answer: in

QID : 320 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is needed, select "no improvement".

However, it will not be (easier found a) successor, given the hostile environment.

Options:

1) easy found

2) easy to find a

3) easier finding

4) No improvement

Correct Answer: easy to find a

QID : 321 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by selecting the appropriate option.

Milton was ______ than most other poets of England.

Options:

1) greater

2) great

3) greatest

4) good

Correct Answer: greater

QID : 322 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by selecting the appropriate option.

It is the desire of ______ tourist to visit the Red Fort.

Options:

1) some

2) all

3) each

4) every

Correct Answer: every

QID : 323 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by selecting the appropriate option.

Taj Mahal is one of _______ greatest wonders of the world.

Options:

1) a

2) an

3) the

4) no article

Correct Answer: the

QID : 324 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by selecting the appropriate option.

If Shruti had worked hard she ______ got the job.

Options:

1) will had

2) would have

3) can have

4) shall have

Correct Answer: would have

QID : 325 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by selecting the appropriate option.

Kapil _______ to cinema every Monday evening.

Options:

1) Is going

2) goes

3) will be going

4) will go

Correct Answer: goes

QID : 326 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Bliss

Options:

1) Upset

2) Euphoria

3) Sadness

4) Mirage

Correct Answer: Euphoria

QID : 327 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Tarnish

Options:

1) Uncorrupt

2) Blot

3) Harass

4) Embellishment

Correct Answer: Blot

QID : 328 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Compact

Options:

1) Slack

2) Lengthy

3) Disagreement

4) Appressed

Correct Answer: Appressed

QID : 329 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Curtail

Options:

1) Expand

2) Enormous

3) Cramp

4) Prolong

Correct Answer: Cramp

QID : 330 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Genteel

Options:

1) Courteous

2) Callous

3) Impolite

4) Extroverted

Correct Answer: Courteous

QID : 331 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Allure

Options:

1) Entice

2) Fascinate

3) Tempt

4) Repel

Correct Answer: Repel

QID : 332 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Adroit

Options:

1) Skilful

2) Clumsy

3) Expert

4) Proficient

Correct Answer: Clumsy

QID : 333 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Contempt

Options:

1) Praise

2) Scorn

3) Disregard

4) Confront

Correct Answer: Praise

QID : 334 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Concede

Options:

1) Assent

2) Reject

3) Field

4) Permit

Correct Answer: Reject

QID : 335 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Chaste

Options:

1) Pure

2) Virtuous

3) Lustful

4) Goodwill

Correct Answer: Lustful

QID : 336 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Stand one’s ground

Options:

1) To maintain one’s position

2) To confess completely

3) To try to attain something

4) To be at distance

Correct Answer: To maintain one’s position

QID : 337 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Watch one’s step

Options:

1) Be punished severely

2) Warning to someone to walk or act carefully

3) Revealing the secret information

4) Put off work for another day

Correct Answer: Warning to someone to walk or act carefully

QID : 338 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Give oneself airs

Options:

1) To be blunt about something

2) To remember things clearly

3) To comprehend the meaning

4) To act better than one really is

Correct Answer: To act better than one really is

QID : 339 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Make ducks and drakes of

Options:

1) To get angry

2) To waste

3) To carry

4) To laugh at

Correct Answer: To waste

QID : 340 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Be an open book

Options:

1) Be insensitive

2) To be easy to understand

3) Be the center of attraction

4) Be supported

Correct Answer: To be easy to understand

QID : 341 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent paragraph.

All the

P: comes under public sector

Q: government owned

R: Production units

Options:

1) QRP

2) PQR

3) RQP

4) PRQ

Correct Answer: QRP

QID : 342 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent paragraph.

Development

P: more advanced

Q: or complex

R: means becoming

Options:

1) QRP

2) RQP

3) PRQ

4) RPQ

Correct Answer: RPQ

QID : 343 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent paragraph.

One major consequence

P: is the rise in sea level

Q: of global warming arising

R: out of greenhouse effect

Options:

1) PRQ

2) RQP

3) QPR

4) QRP

Correct Answer: QRP

QID : 344 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent paragraph.

Educating women

P: of women in the society

Q: is an essential step

R: towards strengthening the position

Options:

1) QRP

2) RQP

3) PQR

4) PRQ

Correct Answer: QRP

QID : 345 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent paragraph.

Even a poor peasant

P: happier than the rich

Q: with good health is

R: person with poor health

Options:

1) PQR

2) RQP

3) PRQ

4) QPR

Correct Answer: QPR

QID : 346 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in Passive/Active Voice.

The cashier took the money from the customer.

Options:

1) The money is taken from the customer by the cashier.

2) The money was taken from the customer by the cashier.

3) The customer was taken the money by the cashier.

4) The money had been taken from the customer by the cashier.

Correct Answer: The money was taken from the customer by the cashier.

QID : 347 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in Passive/Active Voice.

The guard refused him admittance.

Options:

1) He was refused admittance by the guard.

2) Admittance is refused to him by the guard.

3) Admittance was refused by the guard to him.

4) Admittance is refused him by the gaurd.

Correct Answer: He was refused admittance by the guard.

QID : 348 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in Passive/Active Voice.

The reporter was interviewing the social workers.

Options:

1) The social workers were being interviewed by the reporter.

2) The social workers was being interviewed by the reporter.

3) The social workers were interviewed by the reporter.

4) The social workers were is interviewed by the reporter.

Correct Answer: The social workers were being interviewed by the reporter.

QID : 349 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in Passive/Active Voice.

Everyone looked up to Shivani.

Options:

1) Shavani was looked up by everyone.

2) Shavani was looked up to by everyone.

3) Shavani is looked up by everyone.

4) Shavani looks up by everyone. 

Correct Answer: Shavani was looked up to by everyone.

QID : 350 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in Passive/Active Voice.

Tell her to get out of our office.

Options:

1) She is told to get out of our office.

2) Let her be told to get out of our office.

3) She might be told to get out of our office.

4) She should be told that she may get out of our office.

Correct Answer: Let her be told to get out of our office.

QID : 351 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in Passive/Active Voice.

Who can question Sahibs integrity?

Options:

1) By whom Sahibs integrity can be questioned?

2) By whom can Sahibs integrity be questioned?

3) Sahibs integrity can be questioned?

4) Who could have questioned Sahibs integrity?

Correct Answer: By whom can Sahibs integrity be questioned?

QID : 352 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in Passive/Active Voice.

Somebody told me that there had been an explosion in the Parliament.

Options:

1) I was told by somebody about the explosion in the Parliament.

2) I was told about the explosion in the Parliament.

3) I was told that there was an explosion in the Parliament.

4) I was told by somebody that there had been an explosion in the Parliament. 

Correct Answer: I was told by somebody that there had been an explosion in the Parliament. 

QID : 353 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in Passive/Active Voice.

The children killed the snake with a stick.

Options:

1) The snake was killed by the children with a stick.

2) A stick killed by the children with a snake.

3) A snake with a stick was killed by the children.

4) A snake is killed by the children with a stick. 

Correct Answer: The snake was killed by the children with a stick.

QID : 354 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in Passive/Active Voice.

Let her do this.

Options:

1) Let her do this.

2) This be done by her.

3) Let this be done by her.

4) Let him do this. 

Correct Answer: Let this be done by her.

QID : 355 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in Passive/Active Voice.

Cigarette smoking causes one million deaths annually in the industrial states.

Options:

1) Cigarette smoking has been causing one million deaths annually in the industrial states.

2) One million deaths are caused annually by cigarette smoking in the industrial states.

3) One million deaths are being caused by cigarette smoking annually in the industrial states.

4) One million death have been caused  annually by cigarette smoking in the  industrial states. 

Correct Answer: One million deaths are caused annually by cigarette smoking in the industrial states.

QID : 356 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in Indirect/Direct Speech.

Ramesh said to me, "where have you been last night?"

Options:

1) Ramesh asked me where had I been the previous night.

2) Ramesh asked me where I have been the previous night.

3) Ramesh asked me where I am the previous night.

4) Ramesh asked me where I had been the previous night. 

Correct Answer: Ramesh asked me where I had been the previous night. 

QID : 357 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in Indirect/Direct Speech.

"I’m taking my kid to the zoo tomorrow," he said, "to see the baby tiger."

Options:

1) He said that he will take the kid to the zoo to see the baby tiger tomorrow.

2) He said that he would take the kid to the zoo the next day to see the baby tiger.

3) He said that he was taking his kid to the zoo the next day to see baby tiger.

4) He said that he was taking the kid to the zoo that day to see the baby tiger. 

Correct Answer: He said that he was taking his kid to the zoo the next day to see baby tiger.

QID : 358 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in Indirect/Direct Speech.

She said, "Brother, please cook me something nice today."

Options:

1) She told her brother to cook her something nice today.

2) She ordered her Brother to cook her something nice that day.

3) She requested her Brother to cook her something nice that day.

4) She asked her Brother if she could cook her something nice that day. 

Correct Answer: She requested her Brother to cook her something nice that day.

QID : 359 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in Indirect/Direct Speech.

Chirag said, "I shall be 24 tomorrow."

Options:

1) Chirag said that he would be 24 tomorrow.

2) Chirag said that he would be 24 the following day.

3) Chirag said that he should be 24 the following day.

4) Chirag said that I shall be 24 tomorrow.

Correct Answer: Chirag said that he would be 24 the following day.

QID : 360 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in Indirect/Direct Speech.

She asked, "Is Neeraj coming to the meeting?"

Options:

1) She asked that Neeraj was coming to the meeting.

2) She asked that if Neeraj was coming to the meeting.

3) She asked if the Neeraj is coming to the meeting.

4) She asked if the Neeraj was coming to the meeting.

Correct Answer: No Correct Answer ( Benefit to all )

QID : 361 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in Indirect/Direct Speech.

Supriya told Deepika, "what a beautiful dress you are wearing!"

Options:

1) Supriya exclaimed that Deepika was wearing a very beautiful dress.

2) Supriya exclaimed that it is a very beautiful dress.

3) Supriya claimed that Deepika was wearing a very beautiful dress .

4) Supriya told Deepika that was a beautiful dress.

Correct Answer: Supriya exclaimed that Deepika was wearing a very beautiful dress.

QID : 362 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in Indirect/Direct Speech.

"Call Manisha," said the teacher.

Options:

1) The teacher requested to call Manisha.

2) The teacher begged for calling Manisha.

3) The teacher ordered to call Manisha.

4) The teacher to call. 

Correct Answer: The teacher ordered to call Manisha.

QID : 363 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in Indirect/Direct Speech.

Arun says that Ajay loves football.

Options:

1) Arun said, "Ajay is loving football".

2) Arun said, "Ajay loved football".

3) Arun says "Ajay loved football".

4)  Arun says, “Ajay loves football”.  

Correct Answer:  Arun says, “Ajay loves football”.  

QID : 364 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in Indirect/Direct Speech.

Mr. Arora asked his son what he wanted to be when he grew up.

Options:

1) "My son," said Mr. Arora, "what will you be when you grow up?"

2) "My son," said Mr. Arora, "what do you want to be when you grow up?"

3) "My son," said Mr. Arora, "what did want to be when you grow up?"

4) “My son,” said Mr. Arora, “what would be when you grow up?” 

Correct Answer: "My son," said Mr. Arora, "what do you want to be when you grow up?"

QID : 365 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in Indirect/Direct Speech.

The teacher wondered where the sparrows had gone.

Options:

1) The teacher said, "Oh! Where the sparrows have gone?"

2) The teacher said "Oh! Where the sparrows?"

3) The girl said, "Oh! Where had the sparrows gone?"

4) The girl said, “Oh! Where have the sparrows gone?”

Correct Answer: No Correct Answer ( Benefit to all )

QID : 366 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. We live in a world where we are surrounded by constantly streaming images and voices of negative and rarely positive incidents. The constantly changing reality around us- the political scenario, the economic reforms, the communal tension, the climatic change, apart from personal setbacks and tragedies creates a depressing atmosphere and thus we are unable to remain in a happy and cheerful mood. Now, the question arises what exactly is happiness? To some, happiness is the state of mind where person is fully satisfied with respect to his needs and desires. While to some others, happiness is when the things are happening according to their whims. Thus, they depend upon circumstances which will make them happy or sad. For instance, the new car, the diamond ring or cute outfit makes a person happy. Indeed, it will be short-lived and will leave him longing for the next high. As of now the new car’s colour fades, the diamond collects dust, the outfits become outdated, the happiness is lost. After then, the new desires crop up and as we all know that a person's desires are unlimited and rarely all the desires are fulfilled, thus making a person distressed as and when any of the desire is not fulfilled. This emphasizes upon the fact that fulfilment of a person's desires decide the person's happiness. True happiness is thus what we call LONG LASTING well-being state of mind and which never fades away. To attain true happiness in our life, have positive thoughts, meditate, accept situations as it is, and stop worrying.

Why are we unable to remain happy and cheerful mood?

Options:

1) Happiness is the state of mind where person is fully satisfied with respect to his needs and desires.

2) Because we cannot buy a new car, diamond ring or a cute outfit.

3) Because new desires come on our mind.

4) Because of the depressing atmosphere around us.

Correct Answer: Because of the depressing atmosphere around us.

QID : 367 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. We live in a world where we are surrounded by constantly streaming images and voices of negative and rarely positive incidents. The constantly changing reality around us- the political scenario, the economic reforms, the communal tension, the climatic change, apart from personal setbacks and tragedies creates a depressing atmosphere and thus we are unable to remain in a happy and cheerful mood. Now, the question arises what exactly is happiness? To some, happiness is the state of mind where person is fully satisfied with respect to his needs and desires. While to some others, happiness is when the things are happening according to their whims. Thus, they depend upon circumstances which will make them happy or sad. For instance, the new car, the diamond ring or cute outfit makes a person happy. Indeed, it will be short-lived and will leave him longing for the next high. As of now the new car’s colour fades, the diamond collects dust, the outfits become outdated, the happiness is lost. After then, the new desires crop up and as we all know that a person's desires are unlimited and rarely all the desires are fulfilled, thus making a person distressed as and when any of the desire is not fulfilled. This emphasizes upon the fact that fulfilment of a person's desires decide the person's happiness. True happiness is thus what we call LONG LASTING well-being state of mind and which never fades away. To attain true happiness in our life, have positive thoughts, meditate, accept situations as it is, and stop worrying.

What is true happiness?

Options:

1) Happiness is the state of mind.

2) Happiness is when the things are happening according to their whims.

3) Long lasting well-being state of mind and which never fades away.

4) Fulfillment of person's desires decides the person's happiness.

Correct Answer: Long lasting well-being state of mind and which never fades away.

QID : 368 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. We live in a world where we are surrounded by constantly streaming images and voices of negative and rarely positive incidents. The constantly changing reality around us- the political scenario, the economic reforms, the communal tension, the climatic change, apart from personal setbacks and tragedies creates a depressing atmosphere and thus we are unable to remain in a happy and cheerful mood. Now, the question arises what exactly is happiness? To some, happiness is the state of mind where person is fully satisfied with respect to his needs and desires. While to some others, happiness is when the things are happening according to their whims. Thus, they depend upon circumstances which will make them happy or sad. For instance, the new car, the diamond ring or cute outfit makes a person happy. Indeed, it will be short-lived and will leave him longing for the next high. As of now the new car’s colour fades, the diamond collects dust, the outfits become outdated, the happiness is lost. After then, the new desires crop up and as we all know that a person's desires are unlimited and rarely all the desires are fulfilled, thus making a person distressed as and when any of the desire is not fulfilled. This emphasizes upon the fact that fulfilment of a person's desires decide the person's happiness. True happiness is thus what we call LONG LASTING well-being state of mind and which never fades away. To attain true happiness in our life, have positive thoughts, meditate, accept situations as it is, and stop worrying.

According to the passage, a person’s desires are _____________

Options:

1) unlimited

2) not fulfilled

3) necessities

4) constant

Correct Answer: unlimited

QID : 369 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. We live in a world where we are surrounded by constantly streaming images and voices of negative and rarely positive incidents. The constantly changing reality around us- the political scenario, the economic reforms, the communal tension, the climatic change, apart from personal setbacks and tragedies creates a depressing atmosphere and thus we are unable to remain in a happy and cheerful mood. Now, the question arises what exactly is happiness? To some, happiness is the state of mind where person is fully satisfied with respect to his needs and desires. While to some others, happiness is when the things are happening according to their whims. Thus, they depend upon circumstances which will make them happy or sad. For instance, the new car, the diamond ring or cute outfit makes a person happy. Indeed, it will be short-lived and will leave him longing for the next high. As of now the new car’s colour fades, the diamond collects dust, the outfits become outdated, the happiness is lost. After then, the new desires crop up and as we all know that a person's desires are unlimited and rarely all the desires are fulfilled, thus making a person distressed as and when any of the desire is not fulfilled. This emphasizes upon the fact that fulfilment of a person's desires decide the person's happiness. True happiness is thus what we call LONG LASTING well-being state of mind and which never fades away. To attain true happiness in our life, have positive thoughts, meditate, accept situations as it is, and stop worrying.

According to the passage, what are the constant realities changing around us?

Options:

1) Constantly streaming images and voices of negative and rarely positive incidents.

2) The political scenario, the economic reforms, the communal tension, the climatic change, apart from personal setbacks.

3) The new car’s color fades; the diamond collects dust, the outfits become outdated.

4) The changing circumstances which will make them happy or sad. 

Correct Answer: The political scenario, the economic reforms, the communal tension, the climatic change, apart from personal setbacks.

QID : 370 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. We live in a world where we are surrounded by constantly streaming images and voices of negative and rarely positive incidents. The constantly changing reality around us- the political scenario, the economic reforms, the communal tension, the climatic change, apart from personal setbacks and tragedies creates a depressing atmosphere and thus we are unable to remain in a happy and cheerful mood. Now, the question arises what exactly is happiness? To some, happiness is the state of mind where person is fully satisfied with respect to his needs and desires. While to some others, happiness is when the things are happening according to their whims. Thus, they depend upon circumstances which will make them happy or sad. For instance, the new car, the diamond ring or cute outfit makes a person happy. Indeed, it will be short-lived and will leave him longing for the next high. As of now the new car’s colour fades, the diamond collects dust, the outfits become outdated, the happiness is lost. After then, the new desires crop up and as we all know that a person's desires are unlimited and rarely all the desires are fulfilled, thus making a person distressed as and when any of the desire is not fulfilled. This emphasizes upon the fact that fulfilment of a person's desires decide the person's happiness. True happiness is thus what we call LONG LASTING well-being state of mind and which never fades away. To attain true happiness in our life, have positive thoughts, meditate, accept situations as it is, and stop worrying.

What can help us attain true happiness?

Options:

1) Respect needs and desires.

2) Focus on non-materialistic happiness.

3) Ignore the changing realities in our life.

4) Have positive thoughts, meditate, accept situations as they are, and stop worrying. 

Correct Answer: Have positive thoughts, meditate, accept situations as they are, and stop worrying. 

QID : 371 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. Born in Prague in 1883 to a Jewish father who excelled in business, Franz Kafka, along with his three sisters, had a comfortable childhood. He earned a doctorate of law degree by the time he was twenty-three and began working for a government agency, where he distinguished himself by publishing reports about worker safety that appeared in professional journals. He retired as Senior Secretary and was awarded a medal of honor for his contribution to the establishment and management of hospitals and rest homes. To his friends, Kafka was warm and charming. He had several girlfriends and two serious relationships, but he never married. Instead, Kafka devoted his life to writing, publishing his first story in 1909. He was well known among the small literary circles of Prague, and he often read his stories out loud to groups of friends. Kafka continued writing until his death at forty-one from tuberculosis in 1924, correcting the final proofs of the story "A Hunger Artist" while on his deathbed. In the world of literature, Kafka holds a coveted distinction. Like William Shakespeare and George Orwell, he is one of the few authors whose name has become an integral part of the vocabulary used to characterize not only other literature but also the workings of the world around him. The term "Kafkaesque" has come to describe a nightmarish atmosphere resulting from pervasive, sinister, impersonal forces; feelings of guilt, fear, and loss of identity; and the sense of evil that permeates the logic of ruling powers.

When did Kafka earned his doctorate?

Options:

1) By the time he was twenty-three.

2) When he started working in a Government Agency.

3) When he started reading stories.

4) When he excelled in business. 

Correct Answer: By the time he was twenty-three.

QID : 372 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. Born in Prague in 1883 to a Jewish father who excelled in business, Franz Kafka, along with his three sisters, had a comfortable childhood. He earned a doctorate of law degree by the time he was twenty-three and began working for a government agency, where he distinguished himself by publishing reports about worker safety that appeared in professional journals. He retired as Senior Secretary and was awarded a medal of honor for his contribution to the establishment and management of hospitals and rest homes. To his friends, Kafka was warm and charming. He had several girlfriends and two serious relationships, but he never married. Instead, Kafka devoted his life to writing, publishing his first story in 1909. He was well known among the small literary circles of Prague, and he often read his stories out loud to groups of friends. Kafka continued writing until his death at forty-one from tuberculosis in 1924, correcting the final proofs of the story "A Hunger Artist" while on his deathbed. In the world of literature, Kafka holds a coveted distinction. Like William Shakespeare and George Orwell, he is one of the few authors whose name has become an integral part of the vocabulary used to characterize not only other literature but also the workings of the world around him. The term "Kafkaesque" has come to describe a nightmarish atmosphere resulting from pervasive, sinister, impersonal forces; feelings of guilt, fear, and loss of identity; and the sense of evil that permeates the logic of ruling powers.

What was the reason behind Kafka’s demise?

Options:

1) Cancer

2) Malnutrition

3) Tuberculosis

4) Earthquake

Correct Answer: Tuberculosis

QID : 373 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. Born in Prague in 1883 to a Jewish father who excelled in business, Franz Kafka, along with his three sisters, had a comfortable childhood. He earned a doctorate of law degree by the time he was twenty-three and began working for a government agency, where he distinguished himself by publishing reports about worker safety that appeared in professional journals. He retired as Senior Secretary and was awarded a medal of honor for his contribution to the establishment and management of hospitals and rest homes. To his friends, Kafka was warm and charming. He had several girlfriends and two serious relationships, but he never married. Instead, Kafka devoted his life to writing, publishing his first story in 1909. He was well known among the small literary circles of Prague, and he often read his stories out loud to groups of friends. Kafka continued writing until his death at forty-one from tuberculosis in 1924, correcting the final proofs of the story "A Hunger Artist" while on his deathbed. In the world of literature, Kafka holds a coveted distinction. Like William Shakespeare and George Orwell, he is one of the few authors whose name has become an integral part of the vocabulary used to characterize not only other literature but also the workings of the world around him. The term "Kafkaesque" has come to describe a nightmarish atmosphere resulting from pervasive, sinister, impersonal forces; feelings of guilt, fear, and loss of identity; and the sense of evil that permeates the logic of ruling powers.

What is "Kafkaesque"?

Options:

1) A sense of evil.

2) A nightmarish atmosphere.

3) Workings of the world.

4) Coveted distinction. 

Correct Answer: A nightmarish atmosphere.

QID : 374 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. Born in Prague in 1883 to a Jewish father who excelled in business, Franz Kafka, along with his three sisters, had a comfortable childhood. He earned a doctorate of law degree by the time he was twenty-three and began working for a government agency, where he distinguished himself by publishing reports about worker safety that appeared in professional journals. He retired as Senior Secretary and was awarded a medal of honor for his contribution to the establishment and management of hospitals and rest homes. To his friends, Kafka was warm and charming. He had several girlfriends and two serious relationships, but he never married. Instead, Kafka devoted his life to writing, publishing his first story in 1909. He was well known among the small literary circles of Prague, and he often read his stories out loud to groups of friends. Kafka continued writing until his death at forty-one from tuberculosis in 1924, correcting the final proofs of the story "A Hunger Artist" while on his deathbed. In the world of literature, Kafka holds a coveted distinction. Like William Shakespeare and George Orwell, he is one of the few authors whose name has become an integral part of the vocabulary used to characterize not only other literature but also the workings of the world around him. The term "Kafkaesque" has come to describe a nightmarish atmosphere resulting from pervasive, sinister, impersonal forces; feelings of guilt, fear, and loss of identity; and the sense of evil that permeates the logic of ruling powers.

Kafka never married whom had he devoted all his life to?

Options:

1) His girlfriends

2) His scare

3) His vocabulary

4) His writings

Correct Answer: His writings

QID : 375 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. Born in Prague in 1883 to a Jewish father who excelled in business, Franz Kafka, along with his three sisters, had a comfortable childhood. He earned a doctorate of law degree by the time he was twenty-three and began working for a government agency, where he distinguished himself by publishing reports about worker safety that appeared in professional journals. He retired as Senior Secretary and was awarded a medal of honor for his contribution to the establishment and management of hospitals and rest homes. To his friends, Kafka was warm and charming. He had several girlfriends and two serious relationships, but he never married. Instead, Kafka devoted his life to writing, publishing his first story in 1909. He was well known among the small literary circles of Prague, and he often read his stories out loud to groups of friends. Kafka continued writing until his death at forty-one from tuberculosis in 1924, correcting the final proofs of the story "A Hunger Artist" while on his deathbed. In the world of literature, Kafka holds a coveted distinction. Like William Shakespeare and George Orwell, he is one of the few authors whose name has become an integral part of the vocabulary used to characterize not only other literature but also the workings of the world around him. The term "Kafkaesque" has come to describe a nightmarish atmosphere resulting from pervasive, sinister, impersonal forces; feelings of guilt, fear, and loss of identity; and the sense of evil that permeates the logic of ruling powers.

What did Kafka do in his death bed?

Options:

1) Corrected the final proofs of one of his books.

2) Felt sorry for never marrying.

3) Felt sorry for belittling his wife.

4) Did many a sins. 

Correct Answer: Corrected the final proofs of one of his books.

QID : 376 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. Kate Chopin was born in St. Louis, Missouri, in 1850, one of the five children but the only one to live through her twenties. Her father, Thomas O’Flaherty died when she was five, and she spent her childhood among women: her mother, Eliza; grandmother; great-grandmother; and the nuns who ran her school. In 1870, Chopin married Oscar Chopin and moved with him to New Orleans, where they had six children.Chopin was an independent spirit who smoked cigarettes, walked alone through the city, and argued passionately with others about politics and social problems, much to the dismay of the other New Orleans housewives in her social circle. Not long after the family moved to Cloutierville, Louisiana, Oscar died unexpectedly. Chopin mourned his death deeply but eventually embraced her independence, even going so far as to having an affair with a married man. Chopin soon returned to St. Louis, where she would spend the rest of her life.She published her first novel, At Fault, in 1890, when she was forty. The novel was well received, and she went on to publish short stories and essays addressing similar topics. She published two collections of short stories, Bayou Folk (1894) and A Night in Arcadia (1897), and became known as a writer with a keen eye for local culture. "The Story of an Hour" was published in 1894 and, along with "The Storm" (1898), is among Chopin’s most famous stories. Although Chopin’s female protagonists act in unconventional, even scandalous ways, readers accepted this as a simply part of the storytelling and didn’t suspect Chopin of moralizing or trying to insert her personal opinions into her work.

What does the author mean by "Chopin was only one amongst her sibling to live through her twenty"?

Options:

1) Rest of her siblings turned thirty right away.

2) Rest of her siblings could not survive through twenties.

3) Rest of her siblings kept their age secret.

4) Rest of her siblings disowned her by that age.

Correct Answer: Rest of her siblings could not survive through twenties.

QID : 377 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. Kate Chopin was born in St. Louis, Missouri, in 1850, one of the five children but the only one to live through her twenties. Her father, Thomas O’Flaherty died when she was five, and she spent her childhood among women: her mother, Eliza; grandmother; great-grandmother; and the nuns who ran her school. In 1870, Chopin married Oscar Chopin and moved with him to New Orleans, where they had six children.Chopin was an independent spirit who smoked cigarettes, walked alone through the city, and argued passionately with others about politics and social problems, much to the dismay of the other New Orleans housewives in her social circle. Not long after the family moved to Cloutierville, Louisiana, Oscar died unexpectedly. Chopin mourned his death deeply but eventually embraced her independence, even going so far as to having an affair with a married man. Chopin soon returned to St. Louis, where she would spend the rest of her life.She published her first novel, At Fault, in 1890, when she was forty. The novel was well received, and she went on to publish short stories and essays addressing similar topics. She published two collections of short stories, Bayou Folk (1894) and A Night in Arcadia (1897), and became known as a writer with a keen eye for local culture. "The Story of an Hour" was published in 1894 and, along with "The Storm" (1898), is among Chopin’s most famous stories. Although Chopin’s female protagonists act in unconventional, even scandalous ways, readers accepted this as a simply part of the storytelling and didn’t suspect Chopin of moralizing or trying to insert her personal opinions into her work.

How are woman portrayed in Chopin’s novels?

Options:

1) Unconventional and scandalous

2) Moralistically upright

3) Dominating and independent

4) Immoralist

Correct Answer: Unconventional and scandalous

QID : 378 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. Kate Chopin was born in St. Louis, Missouri, in 1850, one of the five children but the only one to live through her twenties. Her father, Thomas O’Flaherty died when she was five, and she spent her childhood among women: her mother, Eliza; grandmother; great-grandmother; and the nuns who ran her school. In 1870, Chopin married Oscar Chopin and moved with him to New Orleans, where they had six children.Chopin was an independent spirit who smoked cigarettes, walked alone through the city, and argued passionately with others about politics and social problems, much to the dismay of the other New Orleans housewives in her social circle. Not long after the family moved to Cloutierville, Louisiana, Oscar died unexpectedly. Chopin mourned his death deeply but eventually embraced her independence, even going so far as to having an affair with a married man. Chopin soon returned to St. Louis, where she would spend the rest of her life.She published her first novel, At Fault, in 1890, when she was forty. The novel was well received, and she went on to publish short stories and essays addressing similar topics. She published two collections of short stories, Bayou Folk (1894) and A Night in Arcadia (1897), and became known as a writer with a keen eye for local culture. "The Story of an Hour" was published in 1894 and, along with "The Storm" (1898), is among Chopin’s most famous stories. Although Chopin’s female protagonists act in unconventional, even scandalous ways, readers accepted this as a simply part of the storytelling and didn’t suspect Chopin of moralizing or trying to insert her personal opinions into her work.

What happened when Chopin moved to Coultierville?

Options:

1) She became a successful writer.

2) She became an independent woman.

3) Her husband died unexpectedly.

4) She gained insight on local culture. 

Correct Answer: Her husband died unexpectedly.

QID : 379 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. Kate Chopin was born in St. Louis, Missouri, in 1850, one of the five children but the only one to live through her twenties. Her father, Thomas O’Flaherty died when she was five, and she spent her childhood among women: her mother, Eliza; grandmother; great-grandmother; and the nuns who ran her school. In 1870, Chopin married Oscar Chopin and moved with him to New Orleans, where they had six children.Chopin was an independent spirit who smoked cigarettes, walked alone through the city, and argued passionately with others about politics and social problems, much to the dismay of the other New Orleans housewives in her social circle. Not long after the family moved to Cloutierville, Louisiana, Oscar died unexpectedly. Chopin mourned his death deeply but eventually embraced her independence, even going so far as to having an affair with a married man. Chopin soon returned to St. Louis, where she would spend the rest of her life.She published her first novel, At Fault, in 1890, when she was forty. The novel was well received, and she went on to publish short stories and essays addressing similar topics. She published two collections of short stories, Bayou Folk (1894) and A Night in Arcadia (1897), and became known as a writer with a keen eye for local culture. "The Story of an Hour" was published in 1894 and, along with "The Storm" (1898), is among Chopin’s most famous stories. Although Chopin’s female protagonists act in unconventional, even scandalous ways, readers accepted this as a simply part of the storytelling and didn’t suspect Chopin of moralizing or trying to insert her personal opinions into her work.

Which of the statement is not true about Chopin?

Options:

1) She was an independent spirit.

2) She walked alone through the city.

3) She argued passionately with others about politics.

4) She did not smoke cigarettes.

Correct Answer: She did not smoke cigarettes.

QID : 380 - Read the given passage carefully and select the best answer to each question out of the four given alternatives. Kate Chopin was born in St. Louis, Missouri, in 1850, one of the five children but the only one to live through her twenties. Her father, Thomas O’Flaherty died when she was five, and she spent her childhood among women: her mother, Eliza; grandmother; great-grandmother; and the nuns who ran her school. In 1870, Chopin married Oscar Chopin and moved with him to New Orleans, where they had six children.Chopin was an independent spirit who smoked cigarettes, walked alone through the city, and argued passionately with others about politics and social problems, much to the dismay of the other New Orleans housewives in her social circle. Not long after the family moved to Cloutierville, Louisiana, Oscar died unexpectedly. Chopin mourned his death deeply but eventually embraced her independence, even going so far as to having an affair with a married man. Chopin soon returned to St. Louis, where she would spend the rest of her life.She published her first novel, At Fault, in 1890, when she was forty. The novel was well received, and she went on to publish short stories and essays addressing similar topics. She published two collections of short stories, Bayou Folk (1894) and A Night in Arcadia (1897), and became known as a writer with a keen eye for local culture. "The Story of an Hour" was published in 1894 and, along with "The Storm" (1898), is among Chopin’s most famous stories. Although Chopin’s female protagonists act in unconventional, even scandalous ways, readers accepted this as a simply part of the storytelling and didn’t suspect Chopin of moralizing or trying to insert her personal opinions into her work.

Which of the following is not a short story of Chopin?

Options:

1) A night in Arcadia

2) Bayou Folk

3) At Fault

4) All of the above

Correct Answer: At Fault

QID : 381 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. In the early periods of civilizations, ______ parts of our country were covered with forests. The increase in the population of our country has led to the ______ of forest area. The forests which ______ air have been cut down and new cities and industries have been established in their place. The ______ of the forests causes what is called "The Green House Effect". It results in the heating of the earth's surface or global warming which has ______ consequences for life on this planet. As a result coming generations are likely to suffer from ______ diseases. And what is extreme, even the existence of human kind might be in danger. ______ is the only measure that can be taken to avoid these disastrous havocs.We know that Chipko Movement was started by Shri Sunderlal Bahuguna to stop indiscriminate______ of trees in the Himalayas. But an all-out effort is needed. We can't thrust this ______ only on the government or on the public institutions or on any particular person. It is the ______ of all and all must work together to make it a success.

In the early periods of civilizations, ______ parts

Options:

1) large

2) small

3) crucial

4) some

Correct Answer: large

QID : 382 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. In the early periods of civilizations, ______ parts of our country were covered with forests. The increase in the population of our country has led to the ______ of forest area. The forests which ______ air have been cut down and new cities and industries have been established in their place. The ______ of the forests causes what is called "The Green House Effect". It results in the heating of the earth's surface or global warming which has ______ consequences for life on this planet. As a result coming generations are likely to suffer from ______ diseases. And what is extreme, even the existence of human kind might be in danger. ______ is the only measure that can be taken to avoid these disastrous havocs.We know that Chipko Movement was started by Shri Sunderlal Bahuguna to stop indiscriminate______ of trees in the Himalayas. But an all-out effort is needed. We can't thrust this ______ only on the government or on the public institutions or on any particular person. It is the ______ of all and all must work together to make it a success.

to the ______ of forest area.

Options:

1) expansion

2) shrinking

3) inclination

4) rejection

Correct Answer: shrinking

QID : 383 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. In the early periods of civilizations, ______ parts of our country were covered with forests. The increase in the population of our country has led to the ______ of forest area. The forests which ______ air have been cut down and new cities and industries have been established in their place. The ______ of the forests causes what is called "The Green House Effect". It results in the heating of the earth's surface or global warming which has ______ consequences for life on this planet. As a result coming generations are likely to suffer from ______ diseases. And what is extreme, even the existence of human kind might be in danger. ______ is the only measure that can be taken to avoid these disastrous havocs.We know that Chipko Movement was started by Shri Sunderlal Bahuguna to stop indiscriminate______ of trees in the Himalayas. But an all-out effort is needed. We can't thrust this ______ only on the government or on the public institutions or on any particular person. It is the ______ of all and all must work together to make it a success.

which ______ air have been cut down

Options:

1) increased

2) nourishes

3) purify

4) enhance

Correct Answer: purify

QID : 384 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives.In the early periods of civilizations, ______ parts of our country were covered with forests. The increase in the population of our country has led to the ______ of forest area. The forests which ______ air have been cut down and new cities and industries have been established in their place. The ______ of the forests causes what is called "The Green House Effect". It results in the heating of the earth's surface or global warming which has ______ consequences for life on this planet. As a result coming generations are likely to suffer from ______ diseases. And what is extreme, even the existence of human kind might be in danger. ______ is the only measure that can be taken to avoid these disastrous havocs.We know that Chipko Movement was started by Shri Sunderlal Bahuguna to stop indiscriminate______ of trees in the Himalayas. But an all-out effort is needed. We can't thrust this ______ only on the government or on the public institutions or on any particular person. It is the ______ of all and all must work together to make it a success.

The ______ of the forests

Options:

1) rejuvenation

2) functioning

3) plantation

4) cutting

Correct Answer: cutting

QID : 385 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. In the early periods of civilizations, ______ parts of our country were covered with forests. The increase in the population of our country has led to the ______ of forest area. The forests which ______ air have been cut down and new cities and industries have been established in their place. The ______ of the forests causes what is called "The Green House Effect". It results in the heating of the earth's surface or global warming which has ______ consequences for life on this planet. As a result coming generations are likely to suffer from ______ diseases. And what is extreme, even the existence of human kind might be in danger. ______ is the only measure that can be taken to avoid these disastrous havocs.We know that Chipko Movement was started by Shri Sunderlal Bahuguna to stop indiscriminate______ of trees in the Himalayas. But an all-out effort is needed. We can't thrust this ______ only on the government or on the public institutions or on any particular person. It is the ______ of all and all must work together to make it a success.

which has ______ consequences for life on this planet.

Options:

1) serious

2) mere

3) complicated

4) rare

Correct Answer: serious

QID : 386 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. In the early periods of civilizations, ______ parts of our country were covered with forests. The increase in the population of our country has led to the ______ of forest area. The forests which ______ air have been cut down and new cities and industries have been established in their place. The ______ of the forests causes what is called "The Green House Effect". It results in the heating of the earth's surface or global warming which has ______ consequences for life on this planet. As a result coming generations are likely to suffer from ______ diseases. And what is extreme, even the existence of human kind might be in danger. ______ is the only measure that can be taken to avoid these disastrous havocs.We know that Chipko Movement was started by Shri Sunderlal Bahuguna to stop indiscriminate______ of trees in the Himalayas. But an all-out effort is needed. We can't thrust this ______ only on the government or on the public institutions or on any particular person. It is the ______ of all and all must work together to make it a success.

are likely to suffer from ______ diseases.

Options:

1) desirable

2) incurable

3) curable

4) durable

Correct Answer: incurable

QID : 387 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. In the early periods of civilizations, ______ parts of our country were covered with forests. The increase in the population of our country has led to the ______ of forest area. The forests which ______ air have been cut down and new cities and industries have been established in their place. The ______ of the forests causes what is called "The Green House Effect". It results in the heating of the earth's surface or global warming which has ______ consequences for life on this planet. As a result coming generations are likely to suffer from ______ diseases. And what is extreme, even the existence of human kind might be in danger. ______ is the only measure that can be taken to avoid these disastrous havocs.We know that Chipko Movement was started by Shri Sunderlal Bahuguna to stop indiscriminate______ of trees in the Himalayas. But an all-out effort is needed. We can't thrust this ______ only on the government or on the public institutions or on any particular person. It is the ______ of all and all must work together to make it a success.

______ is the only measure that can be taken

Options:

1) Cutting 

2) Deforestation

3) Afforestation

4) Initiation

Correct Answer: Afforestation

QID : 388 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. In the early periods of civilizations, ______ parts of our country were covered with forests. The increase in the population of our country has led to the ______ of forest area. The forests which ______ air have been cut down and new cities and industries have been established in their place. The ______ of the forests causes what is called "The Green House Effect". It results in the heating of the earth's surface or global warming which has ______ consequences for life on this planet. As a result coming generations are likely to suffer from ______ diseases. And what is extreme, even the existence of human kind might be in danger. ______ is the only measure that can be taken to avoid these disastrous havocs.We know that Chipko Movement was started by Shri Sunderlal Bahuguna to stop indiscriminate______ of trees in the Himalayas. But an all-out effort is needed. We can't thrust this ______ only on the government or on the public institutions or on any particular person. It is the ______ of all and all must work together to make it a success.

Shri Sunderlal Bahuguna to stop indiscriminate______ of trees

Options:

1) filling

2) drilling

3) pulling

4) felling

Correct Answer: felling

QID : 389 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. In the early periods of civilizations, ______ parts of our country were covered with forests. The increase in the population of our country has led to the ______ of forest area. The forests which ______ air have been cut down and new cities and industries have been established in their place. The ______ of the forests causes what is called "The Green House Effect". It results in the heating of the earth's surface or global warming which has ______ consequences for life on this planet. As a result coming generations are likely to suffer from ______ diseases. And what is extreme, even the existence of human kind might be in danger. ______ is the only measure that can be taken to avoid these disastrous havocs.We know that Chipko Movement was started by Shri Sunderlal Bahuguna to stop indiscriminate______ of trees in the Himalayas. But an all-out effort is needed. We can't thrust this ______ only on the government or on the public institutions or on any particular person. It is the ______ of all and all must work together to make it a success.

this ______ only on the government or on the public institutions

Options:

1) responsibility

2) accountability

3) ability

4) sustainability

Correct Answer: responsibility

QID : 390 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. In the early periods of civilizations, ______ parts of our country were covered with forests. The increase in the population of our country has led to the ______ of forest area. The forests which ______ air have been cut down and new cities and industries have been established in their place. The ______ of the forests causes what is called "The Green House Effect". It results in the heating of the earth's surface or global warming which has ______ consequences for life on this planet. As a result coming generations are likely to suffer from ______ diseases. And what is extreme, even the existence of human kind might be in danger. ______ is the only measure that can be taken to avoid these disastrous havocs.We know that Chipko Movement was started by Shri Sunderlal Bahuguna to stop indiscriminate______ of trees in the Himalayas. But an all-out effort is needed. We can't thrust this ______ only on the government or on the public institutions or on any particular person. It is the ______ of all and all must work together to make it a success.

It is the ______ of all and all must work together to make

Options:

1) notion

2) duty

3) reliability

4) goal

Correct Answer: duty

QID : 391 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. Child labour has been an international concern because it damages, spoils and destroys the _______of children. The problem of child labour is a _______ matter not only in India but also in other developing countries. It is great _______ problem. Children are the hope and future of a nation. Yet, there are millions _______ children in our country who have never known a normal, carefree childhood. The law of India says that any child below the age of 14 cannot be employed either in a factory or office or restaurant. In fact, India’s international business has been severely _______ in many cases because child labours, _______ human rights, have been used in some stage or the other in manufacturing, packaging a transport of those items. And, in a large _______ of cases of export of ready-made garments, prawn and several other items from India has been _______ on grounds of child labour being used. Truly speaking child labour is _______ utilized in India in various places of production and service e.g., small scale industry, restaurant service, domestic aid, shopkeeper’s assistant, stone breaking, book binding, in fact in _______ household industry also.

spoils and destroys the _______ of children.

Options:

1) future

2) nature

3) aperture

4) nurture

Correct Answer: future

QID : 392 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. Child labour has been an international concern because it damages, spoils and destroys the _______of children. The problem of child labour is a _______ matter not only in India but also in other developing countries. It is great _______ problem. Children are the hope and future of a nation. Yet, there are millions _______ children in our country who have never known a normal, carefree childhood. The law of India says that any child below the age of 14 cannot be employed either in a factory or office or restaurant. In fact, India’s international business has been severely _______ in many cases because child labours, _______ human rights, have been used in some stage or the other in manufacturing, packaging a transport of those items. And, in a large _______ of cases of export of ready-made garments, prawn and several other items from India has been _______ on grounds of child labour being used. Truly speaking child labour is _______ utilized in India in various places of production and service e.g., small scale industry, restaurant service, domestic aid, shopkeeper’s assistant, stone breaking, book binding, in fact in _______ household industry also.

The problem of child labour is a _______ matter

Options:

1) mere

2) serious

3) rare

4) curious

Correct Answer: serious

QID : 393 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. Child labour has been an international concern because it damages, spoils and destroys the _______of children. The problem of child labour is a _______ matter not only in India but also in other developing countries. It is great _______ problem. Children are the hope and future of a nation. Yet, there are millions _______ children in our country who have never known a normal, carefree childhood. The law of India says that any child below the age of 14 cannot be employed either in a factory or office or restaurant. In fact, India’s international business has been severely _______ in many cases because child labours, _______ human rights, have been used in some stage or the other in manufacturing, packaging a transport of those items. And, in a large _______ of cases of export of ready-made garments, prawn and several other items from India has been _______ on grounds of child labour being used. Truly speaking child labour is _______ utilized in India in various places of production and service e.g., small scale industry, restaurant service, domestic aid, shopkeeper’s assistant, stone breaking, book binding, in fact in _______ household industry also.

It is great_______ problem. Children are the hope

Options:

1) economic

2) political

3) social

4) theoretical

Correct Answer: social

QID : 394 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. Child labour has been an international concern because it damages, spoils and destroys the _______of children. The problem of child labour is a _______ matter not only in India but also in other developing countries. It is great _______ problem. Children are the hope and future of a nation. Yet, there are millions _______ children in our country who have never known a normal, carefree childhood. The law of India says that any child below the age of 14 cannot be employed either in a factory or office or restaurant. In fact, India’s international business has been severely _______ in many cases because child labours, _______ human rights, have been used in some stage or the other in manufacturing, packaging a transport of those items. And, in a large _______ of cases of export of ready-made garments, prawn and several other items from India has been _______ on grounds of child labour being used. Truly speaking child labour is _______ utilized in India in various places of production and service e.g., small scale industry, restaurant service, domestic aid, shopkeeper’s assistant, stone breaking, book binding, in fact in _______ household industry also.

Yet, there are millions _______ children in our

Options:

1) reprieved

2) derived

3) cried

4) deprived

Correct Answer: deprived

QID : 395 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. Child labour has been an international concern because it damages, spoils and destroys the _______of children. The problem of child labour is a _______ matter not only in India but also in other developing countries. It is great _______ problem. Children are the hope and future of a nation. Yet, there are millions _______ children in our country who have never known a normal, carefree childhood. The law of India says that any child below the age of 14 cannot be employed either in a factory or office or restaurant. In fact, India’s international business has been severely _______ in many cases because child labours, _______ human rights, have been used in some stage or the other in manufacturing, packaging a transport of those items. And, in a large _______ of cases of export of ready-made garments, prawn and several other items from India has been _______ on grounds of child labour being used. Truly speaking child labour is _______ utilized in India in various places of production and service e.g., small scale industry, restaurant service, domestic aid, shopkeeper’s assistant, stone breaking, book binding, in fact in _______ household industry also.

business has been severely _______ in many

Options:

1) effected

2) ruined

3) affected

4) reflected

Correct Answer: affected

QID : 396 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. Child labour has been an international concern because it damages, spoils and destroys the _______of children. The problem of child labour is a _______ matter not only in India but also in other developing countries. It is great _______ problem. Children are the hope and future of a nation. Yet, there are millions _______ children in our country who have never known a normal, carefree childhood. The law of India says that any child below the age of 14 cannot be employed either in a factory or office or restaurant. In fact, India’s international business has been severely _______ in many cases because child labours, _______ human rights, have been used in some stage or the other in manufacturing, packaging a transport of those items. And, in a large _______ of cases of export of ready-made garments, prawn and several other items from India has been _______ on grounds of child labour being used. Truly speaking child labour is _______ utilized in India in various places of production and service e.g., small scale industry, restaurant service, domestic aid, shopkeeper’s assistant, stone breaking, book binding, in fact in _______ household industry also.

child labours, _______ human rights,

Options:

1) preserving

2) violating

3) appreciating

4) conserving

Correct Answer: violating

QID : 397 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. Child labour has been an international concern because it damages, spoils and destroys the _______of children. The problem of child labour is a _______ matter not only in India but also in other developing countries. It is great _______ problem. Children are the hope and future of a nation. Yet, there are millions _______ children in our country who have never known a normal, carefree childhood. The law of India says that any child below the age of 14 cannot be employed either in a factory or office or restaurant. In fact, India’s international business has been severely _______ in many cases because child labours, _______ human rights, have been used in some stage or the other in manufacturing, packaging a transport of those items. And, in a large _______ of cases of export of ready-made garments, prawn and several other items from India has been _______ on grounds of child labour being used. Truly speaking child labour is _______ utilized in India in various places of production and service e.g., small scale industry, restaurant service, domestic aid, shopkeeper’s assistant, stone breaking, book binding, in fact in _______ household industry also.

in a large _______ of cases of export

Options:

1) system

2) area

3) number

4) scenario

Correct Answer: number

QID : 398 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. Child labour has been an international concern because it damages, spoils and destroys the _______of children. The problem of child labour is a _______ matter not only in India but also in other developing countries. It is great _______ problem. Children are the hope and future of a nation. Yet, there are millions _______ children in our country who have never known a normal, carefree childhood. The law of India says that any child below the age of 14 cannot be employed either in a factory or office or restaurant. In fact, India’s international business has been severely _______ in many cases because child labours, _______ human rights, have been used in some stage or the other in manufacturing, packaging a transport of those items. And, in a large _______ of cases of export of ready-made garments, prawn and several other items from India has been _______ on grounds of child labour being used. Truly speaking child labour is _______ utilized in India in various places of production and service e.g., small scale industry, restaurant service, domestic aid, shopkeeper’s assistant, stone breaking, book binding, in fact in _______ household industry also.

has been _______ on grounds of child labour being

Options:

1) accepted

2) dejected

3) neglected

4) rejected

Correct Answer: rejected

QID : 399 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. Child labour has been an international concern because it damages, spoils and destroys the _______of children. The problem of child labour is a _______ matter not only in India but also in other developing countries. It is great _______ problem. Children are the hope and future of a nation. Yet, there are millions _______ children in our country who have never known a normal, carefree childhood. The law of India says that any child below the age of 14 cannot be employed either in a factory or office or restaurant. In fact, India’s international business has been severely _______ in many cases because child labours, _______ human rights, have been used in some stage or the other in manufacturing, packaging a transport of those items. And, in a large _______ of cases of export of ready-made garments, prawn and several other items from India has been _______ on grounds of child labour being used. Truly speaking child labour is _______ utilized in India in various places of production and service e.g., small scale industry, restaurant service, domestic aid, shopkeeper’s assistant, stone breaking, book binding, in fact in _______ household industry also.

Truly speaking child labor is _______ utilized in India

Options:

1) frequently

2) rarely

3) surely

4) instantly

Correct Answer: frequently

QID : 400 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four alternatives. Child labour has been an international concern because it damages, spoils and destroys the _______of children. The problem of child labour is a _______ matter not only in India but also in other developing countries. It is great _______ problem. Children are the hope and future of a nation. Yet, there are millions _______ children in our country who have never known a normal, carefree childhood. The law of India says that any child below the age of 14 cannot be employed either in a factory or office or restaurant. In fact, India’s international business has been severely _______ in many cases because child labours, _______ human rights, have been used in some stage or the other in manufacturing, packaging a transport of those items. And, in a large _______ of cases of export of ready-made garments, prawn and several other items from India has been _______ on grounds of child labour being used. Truly speaking child labour is _______ utilized in India in various places of production and service e.g., small scale industry, restaurant service, domestic aid, shopkeeper’s assistant, stone breaking, book binding, in fact in _______ household industry also.

in fact in _______ house-hold industry.

Options:

1) each

2) every

3) no

4) more

Correct Answer: every
